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T - freforRaa e <t ey ufew qen 34
TR ST SAT (1-5) oh I G -
A GO TS § I9H 3R TR

fergreemd frey st 3 3 Wt ey wumw o

ST ITTETG a1 & | TRTHT M S Aqa H I8 g |

fom fopelt S=aT-gW qen G-WUe & oSl T
o7 | TiefiSht 38 T hEd o | 3 1 3T
e, enfdss 3Tem Qe A= ISR Wi
3T BTy T o7 T 3ok He=uT 3R SJa8r
H | 38 WA I i T TWH 6 &I
HRT IE 7 Toh T8 St o 3tiq soH ow *
B IR A1 o A Gfeferd &, =18 o o1 &
o1 T, TE AT AR &1 AT e Tueri 6 |

3Hoh T1Y &l I Ueh RIS 3 TaaadT il |

T TN THT ACeH o | Wad 9Rd &
AT o &Y H W AT SdiEehdl 3R €H-
T =1 o1y 331 @ § | 39 | El |ehd Tk
34 &< < W 37T EH A o T 8| 37un
yfafafer 72 T dehd & A1 RIS T HHT AR A
fezm ST it &9 3Heh foeg ST A& 331 Wehd
o 3R 31U T AT deh h gl o Hehd
O
1. 3URH T o oI@eh ol Je9 7 T 7
(A) YA TaFar |qum o
EGICIN
(B) oTfier AL R TIHEER i
T T |
(C) 37T U= o QY fiFmT |
(D) SRl ¥ BT SaMT |

2. e @ STt 3
(A) oH T g T T
(B) @t gwi o1 31X
(C) & i 3rasm
(D) Terslt oft of =1 7w
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3. O wET ST TR W Wamdar U™

EEGIECE

(A) o famg 3T yoerH wfffea gud |

(B) I& HETCHT Tieht & TIITER 3N
HGTaUT oh1 Jdlleh T |

(C) 98 Taaar-HfR &1 e T |

(D) zom gt Srfert, o, et o ot 3
T fofarm o |

4. 3T T H TYH TIEO W& h1 37
3_
(A) JHHIEE  (B) UHHE I
(C) T HE A (D) & E

5. 39 TN § OEh 3 G €Y H FqrI 8

IE3

(A) G % To¥ H FUH B H
ANTEH T |

(B) TTITEl | shifcrehTia st forsre ofirest
ot |

(C) T <1 <ht o1 heft oft |

(D) TR et 3 e § T ST
SHET T |

e« Fr=ferRaa e <t erYEe few e 3|
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o 3 i ferermom % &9 i wfed g 2, 36 i Hia

& A GH R | T @A, TG H IR o
AT 2 | S U 3HY e, ATehYeh U ATIvIHY
Y Gi¥ § 3720 el & ? A UF g 7
qHa-Eied | el 3 3H% ®U-8ied &
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1 327 2 T wgsa dafy wm W | 79w
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(C) ST-YIIY gRI IRR sl T
AT
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(B) WIf&cIehR
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T (11-15) : Frifera Wartm o give 1 fafie
a9t o SR 3cared (fufor o7 /) g m R |
T 31T R 3TN Feforfiaa wemi < SR e
Directions (11-15) : The following graph
shows the production of cement in Million

Tonnes during the various years. Study the same
and answer the following questions correctly :

e T 3T
(feem e )

Production of Cement

(In Million tonnes)

100

40

2009-10
2010-11
2011-12
2012-13
2013-14
2014-15
2015-16
2016-17
2017-18
2018-19
2019-20

11. 9 &9 99 S 3NEd 3ca1eT ot
The average production during the first
three years was :
(A) 46 MT
(C) 48MT

12.  ©iHe o1 Tfehad IcdTe g g7l 39 oY

The maximum production of cement was
noted in the year :
(A) 2014-15
(C) 2018-19

13. a9 2011-12 % GRA 3T Jhg wfewra
et ad < g | o
The percentage increase in production
during 2011-12 over its previous year was :
(A) 36%
(B) 31.8%
(C) 37.5%
(D) 9 & Hig T8l / None of these
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(B) 44 MT
(D) 50 MT

(B) 2013-14
(D) 2017-18

14. 3Icqred 3fehdy X deh 39 94 97

The production fell down to the
maximum extent in the year :

(A) 2015-16 (B) 2012-13

(C) 2016-17 (D) 2019-20

15, 3eie i e o o e

3 2 Tfereran 9hE &€ |

The increase in
maximum during the year
its previous year.

(A) 2017-18
(C) 2014-15

production  was
over

(B) 2013-14
(D) 2018-19

T (16-20) : Tezm T 7T U a5 X % AT

12013 82019 % AL U< 793 1 ST 2 |

T9TTe U fors o 3T Teel & SIS |

Directions (16-20) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

A X hI AR 2000

Import of X —

g 1300

S 1200 1200

= 1 [

& 900

e 700

%
A = x 2= g
!
> > > > > 3
o o o o o o

| 16. Torma feras ol @k X o1 3T, X o 30Eq

ST § 3Aferes o ?

For how many years, there was more
import of X, than the average import of

X ?
(A) 3 (B) 4
< 2 (D) 1
—4- F



17.

18.

19.

20.

X < 3TEd ST | 3T1eeh T 3R X
3Ed ST & HH 37T < au1 ol 3TN
-

The difference of the numbers of years in
which import of X is less than the

average import and in which import of X
is more than the average import is

(A) 2 (B) 3
) 1 (D) 0

¥ 2018-19 % TRH X o ARG | fermrd
ofig Tl T 3 X % ST % 36 e
qfraft 2 2

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 63.5% (B) 50.9%
(C) 70.6% (D) 64.38%

4 2014-15 & 2015-16 % TRE X
ST i g W

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 333% (B) 43.0%

(C) 28.8% (D) 25.0%

T¥ft 3t & fofe o g ay X & A 6
gfg ®1 39a (I FUS H) &
Average of the increase in import of

X year by year for all the years is
(in X crore)

(A) 280
(B) 260
(C) 325
(D) T A g &1 / None of these

TS (21-25) : < 778 aforent /ARl 1 SIYEH
I hl T = feu o i & I e

Directions (21-25) : Study the table and

answer the given questions.
T arfetent o =R =afed A, B, C 941 D 9=TE &
fafi= fedi magai A fh e &
In the following table four persons A, B, C and

D are selling items on different days of the
week.

A B C D

@mar/ Monday | 40 | 45 | 25 | 20

et/ Tuesday | 35 | 50 | 48 | 26

AR/ Friday | 25 | 28 | 15 | 41

SR/ Saturday | 30 | 40 | 45 | 40

| 21. B, C AT D gRI HHT: AR, TR qe

IfER T o=ht 718 T3 1 SEd R R 7

What is the average of the items sold by
B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 42.50 (B) 44.33

(C) 46.66 (D) 45.90

22. OwTE o 9t 9R feAi # D a%q <t forshi 6t
T | B 3% b forshl # fopae wferema <t
g 3% 7

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 19.5% (B) 29.1%
(C) 183% (D) 28.3%
GAMMA21



23. HWHAR I o= TE SwgaA h 3fEd R S (26-30) - & 1 arferehr/ameft w1 erEgES
AR 1 < TS e Y afea  wey | A L i feu sl 6 e

TopaT SRR ? Directions (26-30) : Study the table and
answer the given questions.
What is the difference between the | Wﬁ 2010_2017%:[@- “bH("ﬁ T R [

average of items selling on Monday to . . . .
. ) ] Production of Crops in India during
average items selling on Friday ?

2010-2017
(A) 740 (@) / (In tonnes)
(B) 105 a§/ | A/ S| o |wew /| S/ | e /| e/
Year | Wheat| / / | Maize| Barley| Pulses | Potatoes
(C) 5.25 Rice | Bajra
(D) 6.45 2010-11| 6121 | 874| 565 80 300 415 210

2011-12| 7010 | 964| 655 60 312 | 417 220

2012-13| 7112 960| 780 55 210 | 680 222

24 W T:Iﬁ AT a%ﬁ Tl'g ‘_JR@ q slﬁa.r{ | 2013-14| 7056 | 985| 1110| 40 200 | 310 245

2014-15| 6896 | 716| 1160| 90 216 | 370 315

I C I st 715 S ST STUTA I AT 7 2015-16| 6912 826| 1450 110 160 | 300 | 400

2016-17| 7617 | 812| 1460| 75 216 | 260 445

What was the ratio of item sold by A on

Tuesday & items sold by C on Saturday ?
26.  2010-11¥ 2016-17 ! TaTY o TET 3T

(A) 7:9
1 379d IcqTed fehaT 8 7
B) 9:7
C) 6:5 (A) 293.86
(D) 8:7 (B) 300.00 e
(C) 353.96%¢d
25. WYER I D gRI st T8 9%q, MR &bt C
(D) 253.86

ST St 178 g bt feha wferera oft 7

What is the average yield of potatoes

liems sold by D on Monday is what during the period 2010-11 to 2016-17 ?

percent of item sold by C on Saturday ?
(A) 293.86 tonnes
(A) 49.55%
(B) 42.60%
(C) 44.44%

(D) 32.70%

(B) 300.00 tonnes
(C) 353.96 tonnes
(D) 253.86 tonnes

GAMMA21 -6-— F



27.

28.

29.

30.

2016-17 % A& 378 © Tohd ®HA o 3T

# fUset a1 g 8 fiRrae gt i 718 7
(A) A (B) St
(©) =& (D) 3ATRY

During 2016-17, which of the following
crops showed decrease in production in
comparison to the previous year ?

(A) Bajra (B) Barley
(C) Rice (D) Potatoes

3T T 3ITET 2015-16 | 2010-11 1
e fehamT IO R 7

The production of potatoes in 2015-16 is
approximately how many times that in
2010-117?

(A) 2.00

(B) 1.82

(C) 2.10

(D) 1.90

g 3cdeA ¥ Topg o < g firrae feems
U

Wheat production started showing a
slump during :
(A) 2015-16
(C) 2014-15

(B) 2013-14
(D) 2016-17

0 O fhd w8 T 2013-2017 & TET
JcdTe | AR gfg oot I TE 7

(A) St (B) Wal
(ORR] (D) S

Which of'the following crops showed the

continuous increase in production during
2013-2017?

(A) Barley
(C) Pulses

(B) Maize
(D) Bajra

31.

32.

33.

34.

0 | B geY A’ T heet THeis AT 2

(A) WESagl (B) S doisiel!

(C) s fia (D) e g™

Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Dalhousie

(B) Lord Wellesley

(C) Lord Minto

(D) Lord Hastings

AT 3foemd 8§ gaadl i 9 2

(A) T TThATICR <! THT I FRNTA
T AT g Frfeheaen

(B) <igie " o Ufkrg Tt

(C) &Y % THT o Teh TG TehhR

(D) T & HE T

In Indian History who was Dhanvantari ?

(A) A noted physician who adorned the

court of Chandragupta Vikramaditya

A famous general of Chandragupta

Maurya

A famous dramatist who lived

during the time of Harsha

(D) None of these

Tt fore ovm  WRE 31T 2
. IHEq

II. @&
L &TEm

In which order did the following come to
India ?
I Thomas Roe

(B)
(©

I.I. Fa-hien

III.  Hiuen-Tsang

(A) 1L 1,101 (B) LILIII

(C) ILIILI (D) ILLII

TSI -3g-<ien Tohd Ig H 3TN § T
g3 AT ?

(A) TATE (B) WX

(C) anfogary (D) 399 | IS T

Siraj-ud-daula was defeated by British in

the battle of :

(A) Plassey (B) Buxar

(C) Wandiwash (D) None of these
GAMMA21



3S.

36.

37.

38.

TR T wum grn foem srfeasm o
Uferiies “quf WS (PO @A) w5

AT 9T fepa T 9
(A) WER (B) g
(C) Ul (D) @IS

In which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)

resolution ?

(A) Lahore (B) Bombay

(C) Karachi (D) Lucknow

e =1 foeT ot

a. SIS AvHA AW 1. AT EeA™

b. T Ul 2. guTYE S

c. T Hem 3. 1.8 g

d. BH &S 4, THEEE

Match the following :

a. Indian 1. Lala Hardayal
National Army

b. Ghadar Party 2. Subhash

Chandra Bose

c. Mitra Mela 3.
d. Home Rule 4.

V.D. Savarkar
Annie Besant

League
a b C d
A 2 1 3 4
B) I 2 3 4
© 3 4 1 2
M 4 2 1 3
MfehTefla WA o forawor aeft “gfeshr &
ICE
(A) WIRM (B) AR
(C) = (D) T HIE el

“Indica” which is an account of Mauryan
India was authored by

(A) Fa-hien (B) Megasthenes
(C) Hiuen-Tsang (D) None of these

gAY fordt oY W T oM o) 3TRT ?
The Simon Commission first visited
India in the year

(A) 1926 (B)

(C) 1919 (D)

1925
1928

GAMMA21

39.

40.

41.

42.

AT AR Sty fhe T a7

(A) T (B) ere

(C) Tm (D) WIRI

The Nagarjunasagar Dam has been built
across the river
(A) Krishna
(C) Ganga

HIE TR T T IR ISTS fohd Y hl
T ?

The Mt. Everest was first scaled in the
year

(A) (B)
©) (D)
=1 5 9 fopem warem e o Reehd
I 8 & o1 forie feparm 2

(A) I &b

(B) WM 37sge THFRR WH

(C) Hrgmrg 3reft i

(D) 3TY FHeTH AT

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Fazlul Haque

(B) Khan Abdul Ghaffar Khan

(C) Mohammed Ali Jinnah
(D) Abul Kalam Azad

TTH Y DI HT ShIfAhRI TS HTehR TSTH
a | SITiHe o1 2

(A) ITfier affd

(B) Trex Ut

(C) 3ANFE WA I

(D) Tergem fdfecteny waIfEwsH

Which of the following revolutionary

(B) Godavari
(D) Cauvery

1953
1955

1951
1958

groups was involved in Kakori

Conspiracy Case ?

(A) Anushilan Samiti

(B) Ghadar Party

(C) Abhinav Bharat Group

(D) Hindustan Republican Association
F



43.

44.

45.

fe mu et 3fit 3k wEl w1 B | e
Hﬁqﬁ%?

. S SR — Y 3R IR

2. SR AT T 3R

IREET RS - IWIX
3. ymmer, g um
N

4. AT IR St o — ffeen

(A) 2313 (B) 13R2

(C) 334 (D) 1,233
Which of the following passes and
locations is/are wrongly matched ?

1. Zojilaand — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. ThagaLa, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) 2and3 (B) land2

(C) 3and4 (D) 1,2and3

AL | feora veft s1vRmes /g 3emH

ELLE

(A) U I

(B) HEIeTg AMART

(C) hadlTed IHT UL 3aH

(D) HTEIHT AHIARTT

The name of the bird sanctuary/national
park at Bharatpur is

(A) Darrah Sanctuary

(B) Bhensroadgarh Sanctuary

(C) Keoladeo Ghana National Parks
(D) Ghatprabha Sanctuary

TATeITE 39T BT o i 3T9%h BT Eld @
(A) & (B) Goofi-TeTgq
(C) Smfe (D) TSHIEd

The source of iron ore for Bhilai Steel
Plant is

(A) Korba
(C) Umaria

(B) Dalli-Rajhara
(D) Rajnandgaon

46.

47.

48.

49.

TT & 1 g T T @ 2
(A) Trafies (B) qdeh
(©) fxdra (D) Y

What is another name for the Service
Sector ?

(A) Primary (B) Tertiary
(C) Secondary (D) Agriculture
AR | FoId ShTfd o S & € H i
AT AR ?

(A) €. g HiEa

(B) eIt Wl

(C) TUH.TH. WHHIYH

(D) tHa Teant

Who is known as father of White
Revolution in India ?

(A) Dr. Verghese Kurian

(B) Balwant Rai Mehta

(C) M.S. Swaminathan
(D) Norman Edburg

fortren S@ o woreaey fsfl faw 4 gfg
1 arferen gorrer Bl ¢

(A) I I Hd

(B) =

(C) & USht W Irgmfa wnfed

(D) AfedTd X

Private investment will be most likely
to be increased as a result of a rise in
(A) The price of shares

(B) The rate of interest

(C) Expected yield on new capital
(D) Personal taxation

AR h! THT AT T HATeheid i dTedt

LI

(A) Hifa s

(B) 3TR.¥1.37%.

(C) o waerm

(D) 1T TifeTeh! T

The agency estimating the National

Income of India is

(A) NITI Aayog

(B) RBI

(C) Ministry of Finance

(D) Central Statistical Organization
GAMMA21




50. TrfcTRad § | 91 MR |fae™ S 7ed

51.

52.

foreryar & 2 2

(A) wfdeg =

(B) el GEf wL=

(C) ifer=it =1 ferawm

(D) TorRga afaem st afqem K gdiar
Which one of the following is not a salient
feature of the Constitution of India ?

(A) Committed judiciary

(B) Quasi federal structure

(C) Distribution of powers

(D) Written Constitution and
Supremacy of the Constitution

R § 3ATffeh R 1991 % S Temest
HHY ?

(A) 31ea fogil areut

(B) &, Tyt T

(C) . amve g

(D) T & i3 &

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) Atal Bihari Vajpayee

(B) P.V.Narsimha Rao

(C) Dr. Manmohan Singh

(D) None of these

YR o H99H § $10 9 =1 T g1
gftfoera 7€ & 2

(A) T 3TN e

(B) Yfer
(C) S

(D) Tue ufshan Afgar

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Law and Order

(B) Police

(C) Prison

(D) Criminal Procedure Code

GAMMA21

53.

i 54,

55.

-10-

P-ww T 19 e & TER
fraa @ a2

(A) 373N TEdT HuT

(B) Sctad T Hgdl it

(OEEE TN

(D) 9 | %I T

Who had proposed the idea of three tier
Panchayati Raj System ?

(A) Ashok Mehta Committee

(B) Balwant Rai Mehta Committee
(C) Royal Commission

(D) None of these

= @ @ = v et & s
T YEH T & ?

(A) wiferes e

(B) Hifctes SAfrepR

(C) Ty ifa & Frewmes faga

(D) S A IS &

What ensures economic justice to Indian
citizens ?

(A) Fundamental Duties

(B) Fundamental Rights

(C) Directive Principles of State Policy
(D) None of these

IR TIIH &1 DH T I8 T

GIHRT 1 U G & ITESH & foe
R a2 2

(A) =BT 40 (B) 3IFI<9¢ 38
(C) 3T=8e44 (D) 31T 46

Which Article of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 40
(C) Article 44

(B) Article 38
(D) Article 46



56.

57.

58.

59.

60.

e 1 @ W@ie 3 9 ferweh! Sufedfda
% IV BIAT & 2

(A) THIGH 3mA (B) Wi 3T
(C) Afeifetss 3T (D) HitHh 30
Sour taste of lemon is due to the
presence of which of the following ?
(A) Aceticacid (B) Citric acid
(C) Oxalicacid (D) Formic acid

THehesTeh W 9 Bl @
(A) WYHE (B) =@M
(C) & (D) <HT (3TEH)

Carcinogenic chemicals cause
(A) Diabetes (B) Heartdiseases
(C) Cancer (D) Asthma

1 1 S HAg F1 HEerdl & ?

(A) i (efrefi)

(B) faw= (Erefim)

(€) = (sfia)

(D) Tafyrs =t (wfsre sfiw)

Name the upper layer of the skin :

(A) Epidermis (B) Endodermis
(C) Dermis (D) Special Dermis
fersteft =1 yaTg wfdhe § Ha g1 ? 2

(A) TR TgEN ™

(B) fE=aMER ™

(C) o= =g 71 =1 8H W

(D) 39 P dreesl T&l Bl

Current flows in a circuit when

(A) A switch is closed.

(B) A switch is opened.

(C) The switch is either opened or closed.
(D) There is no voltage.

feig 1 S.I. SHS TS ?
(A) g (B) s
(C) e (D) UFERR

What is the S.I. Unit of resistance ?
(A) Ohm (B) Faraday
(C) Volt (D) Ampere

—-11 -

61.

62.

63.

64.

261 =

@& = ® =

© 5 ® 2

T W& hl SHHET | 4% i a1k Jhg

ﬁ?ﬁﬁwwﬁﬁm%w%%mﬁ%

T T Hi STt 2 | i o | g o1 Fasra
&I ?

The population of a town increases 4%

annually but is decreased by migration
annually to the extent of %% . What will

be the increase percent in three years ?

(A) 10 (B) 9.8
(C) 105 (D) 10.8
EI'Fti / = FﬁxWIIFT%

If ( j (1 + —j then the value
169 13

of x1is:
(A) 3
(C) 5

B) 1
(D) 7

37%1&@%%%?
(A) 400
(B) 300

(C) 500
(D) Truifa & o gepa

How many % ’s are there in 37% ?

400
300
500
cannot be determined

(A)
(B)
©)
(D)
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65. 13 Uil %1 3MEd 68 B | T8 TTd HI
3N 63 B 37 3nfed) @ =61 3fiEd 70 2,
ql TTde T IR & —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 65.5 (B) 47
(C) 73.5 (D) 94
66. ‘Hiel ¥ W g3 91 o foru = fgu Mo
[EETR R R RC R CACIED
(A) Tt
(B) e
(C) Faem
(D) hehehivl

67. ‘U1 gY IR U T U1 AT HETeR
31&%
(A) fra-Jest &
(B) g g HUF M
(C) weraTaqut futr et
(D) 3fua faota e

68. 3G T T =TI HIT |
(A) IESHR
(B) @R
(C) wfgshr
(D) dghI

69. A ey wfom s @2 ?

(A) Tom (B) s

(C) wrft (D) Ffusd
70. TSieed’ R G 8

(A) WO (B) oM

(C) Tomfd (D) fersy

GAMMA21

Directions : Read the passage carefully and
answer the corresponding questions : (71-73)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying

i to get to sleep but my fear made that

impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

. 71. Which one of the following did the

author do first ?

(A) Climbing into bed.

(B) Closing the door.

(C) Rolling himself into blankets.
(D) None of these

72. The author sat peering into the darkness
because
(A) he wished to see the window.
(B) he had put out the light.
(C) the window had looked like a plate
(D) he was afraid.

73. The author jumped out of bed because
(A) he saw someone coming towards
him.
(B) he heard a faint sound.
(C) acold breeze blew past his face.
(D) he was pushed by someone.

74. Give Synonym for the following word :
Pride
(A) Hate
(C) Dignity

(B) Humour
(D) Cowardice

75. Give Antonym for the following word :

Keen
(A) Alert (B) Dull
(C) Humble (D) Eager
-12- F



76.

77.

78.

79.

Tereht Tfera e w1 # COMPUTRONE
@1 fer@t ST 8 PMOCTUENOR | &t
%< AT H ADVANTAGES &1 @1 feran

Srern ¢

In a certain code language,
COMPUTRONE is  written  as
PMOCTUENOR. How is

ADVANTAGES written in that code ?
(A) AVDATNSEGA
(B) SEGATNAVAD
(C) AVDATASEGN
(D) NAVDASEGAT

Teh HATGH! A Teh Aleel & T, “Jreil Hi b
ufe 1 sg B g7 7 |2 98 Aigen 3|

ATeHt & Fope wehR Tafera 2 2
(A) Tl (B) T
(© = (D) &

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Granddaughter (B) Daughter

(C) Mother (D) Sister

few v faemeqi ° @ Heftg wse 1 WA
HifST

Sl RCIE EER: TR

(A) 7Y (B) T

(C) Tt (D) G

Select the related word from the given
alternatives :
Dog : Rabbies : : Mosquito : ?

(A) Death (B) Plague

(C) Malaria (D) Stings

3 316 T = 1T ST Tg  STeh! 11
T U T8 W@ |

(A) TR (B) 9 (avafer)
(©) 3 (D) Tl

Choose the word which is least like the
other words in the group :

(A) Knight (B) Nun

(C) Monk (D) Priest
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80.

81.

82.

83.

IMEA.IE. 7 22 JeTws, 2021 & For 1A=
T oI U SIS ST oht T e o fean g 7
(A) Temm (B) WS
(C) & (D) ST & T
Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?

(A) Visa (B) Mastercard
(C) Rupay (D) None of these

T o TR H SATTEhal 9@ o 35e3d |

WRd | fohereh g HiaTSa T e AT

& TeRaT T 2

(A) T8 HATTH

(B) e U UHER shedTul HATeTd

(C) Y HoATer

(D) 9 | %I T

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) Ministry of Home Affairs

(B) Ministry of Health and Family
Welfare

(C) Ministry of Ayush

(D)

None of these
Ife 18 wadl, 2005 HI IEHAR 8,
18 ®a, 2007 i A &1 e g 2
(A) HHaR (B) Te@r
(C) HITTIR (D) d9ar
If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Monday (B) Sunday
(C) Tuesday (D) Wednesday

R o 3H TH T o1 I 1 g o 317

auft Fanfer v ey | yem foran g 2
(A) dRTHT (B) TSR
(C) TSIH (D) HIeH

Name the state of India which became
the first state to provide health insurance
for all its residents.
(A) Telangana
(C) Rajasthan

(B) Gujarat
(D) Karnataka
GAMMA21



84.

8S.

86.

87.
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TRAT TA7 3 H¥HR A 370 Teh BRI I
&1 1Y Siefige ST % A W
w@ig |

(A) TEsrader (B) Uyedi i@ 9=
(C) e IgehIvT (D) feren oo

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress

(A) Priyanka Chopra

(B) Aishwarya Rai Bachchan

(C) Deepika Padukone

(D) Vidya Balan

s 2021 o foTT ford <o o1 TrEe e
H FeY Ifwemel! grEare Hi Al § gey
FHE?

(A) ILTE. (B) ¥4

(C) ¥rd (D) S

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?

(A) U.S. (B) Russia

(C) India (D) Japan

RN Juferfired 2021 O feraen! IR
T o EASI—aTEeh oh ToTU AT {Shall TIT 2
(A) AW UTee] (B) ST ATHS
(C) TEg @@ (D) 3tefia fog

Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 2021?

(A) Mariyappan Thangavelu
(B) Kashish Lakra

(C) Devendra Jhajharia

(D) Ajeet Singh

2021-22 % TR FR (JAE-THAR) &
foTu e T @ i el e R R 2

What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) 0f 2021-22 ?

(A) 6.6% B) 7.6%

(C) 8.6% (D) 9.6%

88.

89.

90.

{91,

92.

14—

HF H TS WHR 3 gerw <ferd
TR IRLIT AT <l AR FeharT & 2

(A) AFIICY  (B) oI

() dwag (D) faEr

Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Andhra Pradesh

(B) Telangana

(C) Tamil Nadu

(D) Bihar

et 1 8 o S Y “ofet 3T <6 i 3
A Y ST S 3 2

(A) ¥HIH (B) SmUHE

(C) Ut (D) sficient
Which of the following countries is known
as the land of “Thunder Dragon” ?

(A) Bhutan (B) Japan

(C) Nepal (D) Srilanka
T fora Y Tota 2 2

(A) ST@eE (B) HER

(C) HSA I (D) FH A IS TE

Riyadh is the capital of which country ?
(A) Bangladesh (B) Myanmar
(C) Saudi Arabia (D) None of these

qferTg foam |9 2021 1 g9 fRE
Teifereh gt 3 Sfiar 2

(A) I (B) E.uH..

(C) TIARBTI WS, (D) T.uH.%
Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) BIP (B) DMK

(C) AIADMK (D) PMK

Jfyges wMfd F=hieh 2021 | SH &1 ¢
MEWE 2

(A) —Sfervg (B) =W

(C) ImEAE (D) [T

Global Peace Index 2021 topped by
which country ?

(A) New Zealand (B) Denmark
(C) Iceland (D) Portugal



93.

94.

9s.

96.

97.

Torvar & vy Ty oo e TR ST R 2

(A) 24 3HT (B) 20 3THsT
(C) 279as (D) 30 as
When is the United Nations Day

celebrated across the world ?
(A) October24 (B) October 20
(C) November 27 (D) November 30

AT =TT gl A B 2
(A) T&M B) foar
(C) weeEy (D) fermmm

The International Court of Justice is
located at

(A) The Hague (B) Geneva

(C) Amsterdam (D) Vienna

forea wfeg ‘sl i @A s -
(A) A YA (B) TN H

(C) 3fssmd (D) WERIZH

The world famous ‘Khajuraho’ sculptures
are located in

(A) Madhya Pradesh

(B) Gujarat

(C) Odisha

(D) Maharashtra

&A% I 3 T wRa H A A B
T T8 B2 7

(A) T3 (B) Tafern

(C) WHTe™ (D) fiem

Which of the following is the smallest
state (in Area) of India ?

(A) Goa (B) Sikkim
(C) Meghalaya (D) Mizoram
TSI G o I U HCE] b1 HIHTA fohar
oY HI BT 7

(A) 4= (B) 2ad

(C) 6 (D) 8o

What is the tenure of the elected
members of Rajya Sabha?

(A) 4 Years (B) 2 Years

(C) 6 Years (D) 8 Years
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98.

99.

100.

S T fepmfera feu o & 7

(A) Tg H fiwar & fore

(B) 3AmTdehler fefe H fofire dan s fog
(C) ©d % & H 3hy YeH o foru
(D) Torf3re T qanadi & o

Arjuna Award is given for

(A)
(B)
©)
(D)

Bravery on battlefield
Exceptional service in emergency
Outstanding performance in sports

Exceptional social services

ftrg qehIe 3cHa 38 9 frg Tsu @
qeg g ?

(A) feorm (B) A

(C) TSHIH (D) 37t

The famous Nabakalebara festival
belongs to which of the following states?
(A) Bihar

(B) Kerala

(C) Rajasthan

(D) Odisha

71 5 9 =i i vk BiaTe e T R 7
(A) T

(B) wiaq

(C) hTeH SEHATHTES
(D) FARIGI3TRIHTE (CFC)

Which of the following is not a green
house gas ?

(A)
(B)
©)
(D)

Nitrogen

Methane

Carbon dioxide

Chlorofluorocarbon (CFC)
GAMMA21
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